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£18 |5% %—| 45| 35 24 .19.45| 101.Okm| TH9 ET36

F2m | %— 171 54 44 .00.01| 100. 9km 10 ET#167

%3E |5% %—| 85| 63 53 .12.58| 101. 2km 10 BT#175
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g1om| Eamx=| 51| 13|rz 2 .21.40| 96.2km| 13 29 9
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g21@| KamxE=| bl| 13|r® 3 .24.04] 96.2km| 131 29 9
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goam@| RamE=| 49| 15|r& 4 .32.22| 96.5km| 131 27 9
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woom| m | 53| 18[Am 7| 5.22.40] 95. thmlrmlntPhan!?
#2om| RaNE=| 53| 17|A& 5| 52412 95 tkmbmlioPhinl?
#27@| ®aNE=| 53| 15{Am 5| 5.24.17| 95 tkmbmlio Pl
g2smE|EaNE=| 53| 14|A% 4| 5.20.32] 95 tkmlpglS e Pkl
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